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Question 4: Determine / T 2):2; 9 dx
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Question 5: For this question consider the integral
2
/ 2(sin2x—1) dx
0

(i) Determine Ty, the trapezoid rule on four subintervals. Simplify your answer to a single numerical value.
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(i) It can be shown that for the integrand f(x) = 2(™=1) above,
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for every x in [0, 27].

Use this information to determine an error bound on your approximation in part (i). State your answer as
a single simplified fraction.
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dx converges or diverges. If it converges give the

Question 6: Determine if the improper integral
\/——

value, if it diverges then say so. 2 2
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Question 7: Determine the area of the region lying below y = 1/x, above y = x2/$ and to the left of y = x—2

State your answer as a single simplified fraction. Y= K- 2
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